PRISMS

1. Calculate the volumes.
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2. Calculate the area of the face and then the volume.

5 cm
(a) (b)
8 cm
R K)//,
™~ 12 cm 6 ] / "

™

(©) @

10 mm

l
”//,//’ESZZ/IA kE;EF\‘*'ﬂian

8 cm

‘m

— ) —p



3. Calculate the area of the face and then the volume.

4. Calculate the volume using V = mréh.
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PRISMS

1. Calculate the volumes.
(a)160 cm® (b) 45

3>

8 cm

(d) 320 mm* (f) 2000

Ocm 8 cm

2. Calculate the area of the face and then the volume.




3. Calculate the area of the face and then the volume.

(a) 30 m? , 240 m3
R
6m
9m
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14 m

4. Calculate the volume using V = mréh.

(a) (b) 14137.166...cm? )
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(c) (d)
282. 471.23 10m
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